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Question Number : 1 Question Id : 8740815918 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

............. refers to inferring about the whole population based on the observations made
on a small part.
Ush Bic § B8 9¢ @ M5 CWUivEl & AT 9 9 AR & 97 H 566

ap

Options :

Pseudo inference

| % BH TN
Objective inference

. 28 =R

Inductive inference
s o T er=rd

Deductive inference

_ T==fEeg M=y
4, %

Question Number : 2 Question Id : 8740815919 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Ex-Post Facto research meang ........coeessensrsss
qeARIT 9N &l andd &
Options :
The research is carried out after the incident

=
2

qoAT @& ULETd 9Ny fhdr TEn B

The research is carried out prior to the incident
TeAl § TEel 9y fGEr T R

The research is carried out along with the happening of an incident
o T TpET "ear & dafed 26 & "1 fHar = B

3.
The research is carried out keeping in mind the possibilities of an incident
% e [=Hdl =TT W HAGTHAl B = H TEG 50 AT 19 E

Question Number : 3 Question Id : 8740815920 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In a survey, the respondents are interested to discuss the recent private cellular schemes,
but the surveyor asked them about BSNL landline service. What type of error will it lead
to ?
U HAE9l H, ITLC@ISA B B B H el Heere s 97 == B
T oo RE=el B, Wi d9auEdl J S99 S0EUAUs dsded |59 @
a H gsr| f6E 9 @ e BR 7

Options :
Non-response error

. T-—Aia=rg E_IFI
1.

Selection error
) = Egl_c’



Sample error

3. %

Panel error

T :l'l_rr
4. %

Question Number : 4 Question Id : 8740815921 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Total number of digits in Tippet table are :
‘fome’ anerer | T HAD B 5

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to all
candidates.

Options :
. 10,400

9,400
10,200

9,600
4,

Question Number : 5 Question Id : 8740815922 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Endogenous variable is also known as :
WTJT“HW“?‘FIT ATAT =Ald

Options :



Intervening variable

| s HEEC =Y

Mediating variable
, % HEHE] =X

Independent variable

Dependent variable

4 HANM=AT =L

Question Number : 6 Question Id : 8740815923 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rejection of hvpﬂlhws which is true leads to :

Il il HEFA Al Je &, Heanl 5
Options :

Sampling Error

15312' e

Type II Error

) ® F_..:_\:I I ?:)1‘_”“_.

Type I Error

Estimation Error

Question Number : 7 Question Id : 8740815924 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



Feature of a hypothesis is :
aftmeaqTr @1 afereg &

Options :

Testability

1 wnﬁam I FT AHAT

Insufficiency

H

[Mogical

= 5
3. %

Complication

_—
4. %

Question Number : 8 Question Id : 8740815925 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is the first step of research ?
T | | SHE-ET 90 @ 95al =510 B Y
Options :

Designing the research
FIFIE ST

1. ®

Data Collection

) % ol | HIEY

Formulation of the research problem

9T HEET AT
3.9 &

Analysis of data
ST W fgeeor

Question Number : 9 Question Id : 8740815926 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Sampling error can be reduced by :

=meel & Ffe @ FA fFam = Fwar ®

Options :

Non-probability sampling
| % TT-HEECT ASE E

Increasing the population
ST H giRE 20T

2. %

Decreasing the sample size
3 % TAIGET SHT H HAT I

Increasing the sample size
4. F‘IliﬂT HIBI ﬁ E,lj{-:n al?

Question Number : 10 Question Id : 8740815927 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Empirical research is related to :
AGHEAN AT AGHAE Hiaq 2

Options :
Pure logic

| x A= T H

Observation
) JIETOT H

Theory
FIH =1 s i:\‘l—

3. %

Critical Thinking
ATAEATHE | H

4. %



Question Number : 11 Question Id : 8740815928 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following features one considered as critical in qualitative research
OIeHE: AJEIE H = § § Hi9-91 &9 A=dedE A1 Sar 2

Options :

Woe-D
\

Collecting data with the help of standardized research tools
AT AJHEE 3TH01 & Hew | HATHST H HAET

1. ®

Design sampling with pr ‘obability admpie technique.
"‘:TH-IFC“-JHI HETT SERIEs cll '!:-'IJ-'JIQ‘I*I UTAAT AT

Collecting data with bottom of empirical evidence

, o JTEH ST EN R SE© g SRSt A IR

Gathering data with top down schematic evidence
=TT 2134 ArAAEs 9919 &1 A6l H JU80

Question Number : 12 Question Id : 8740815929 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one among the following statement is true in the context of the testing of
hypothesis ?
TVEReIAl & ST & J<d § 9 § § $E-91 F99 9 2 7

Options :

It is only the alternative hypothesis that can be tested
, I7 BT JepfeTsh afimea & 59 S s q9a&an =

It is only the null hypothesis that can be tested

, o 7B A T O & 59 SEr 51 96T &




Both the alternative and null hypothesis can be tested
, JHICaE TF T GEF B AESIAAT B SrE S OFEES 5

3.9
Both the alternative and null hypothesis can not be tested
. diedd U9 9 Sl 21 Ul &l JB1 S=El S "6l &
4.

Question Number : 13 Question Id : 8740815930 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If there is a uniform variation in the ratio of the two variable then the regression would
be :

qie & =9 & HAJIT H F§HE [@ig=ar o S, 1 SEEd BE

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to all
candidates.

Options :
Exponential
| RPN

Quadratic

Question Number : 14 Question Id : 8740815931 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Which of the following is one of the types of "validity' encountered in research design
and methodology ?
Frfaiad § § &M oTgEad fS9e- A sEuemen § 9ga g &

UHEET H H UF = 7

Options :
Statistical validity

- H=T=h T

Integral validity

, 5 T ST e

Modular validity
- Arggay J9ar

Projective validity

. TETT T

Question Number : 15 Question Id : 8740815932 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In CARE list of journals the "CARE" stands for :

CARE 91Tel UREHIAT &1 991 § "CARE" &7 fg&jd 9 2 :

Options :

Consortium of Academicians for Research Ethics

FEMCTH ATE UHafeE-a BT 9 ufeae

Consortium of Academicians for the Researchers Empowerment

FEMCTT ATF UHSHEEE BT ¢ Egdq Uaigaige

2. %

Consortium of Academic and Research Ethics

- FEllcdd HAF UhsSHE Uvs TEE Ui

Consortium of Academic and Researchers Ethics

FHIMCTH ATE UhHsaE U8 THTH O

4. %



Question Number : 16 Question Id : 8740815933 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Read the statement A and B and choose the correct option :

FIT A AT B 9¢ AT F8l FHT o

Statement (A) : The structured approach to enquiry is usually classified as qualitative
research.

BT (A) : FHE F 0 HHET RO FN AT T IONHT FTHA
% =9 H TEipd [HF1 San 2 |

Statement (B) : In the structured approach, everything that forms the research process —
objectives, design, sample, and the questions that a researcher plans to ask of respondents
— is not predetermined.

HYF (B) : HU=T 0T H, 98 9 {HF S FAJEAH Gihar @ e
FHIAT & — 3eed, S92, 9941, ST F gs9 S UFh sUuhdal o I
T g8d @ AeET g9 B - 99 Hdia 98 el 2 |

Options :
Both the statements are true
| SEl BT 99 B

Both the statements are false

ST U 9 B
2.9

Statement A is true but B is false

—

FIT A I 2 TR B T B

3. %

Statement B is true but A is false
i PO B €9 & T4 A TIed B

4.

Question Number : 17 Question Id : 8740815934 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
"Controlled Group" is atermused in ..............
THEIERT TWHE” e H 0gth THh 9= 3 |




Options :
Survey research
| AT ST

Historical research

) a, %Efﬂrla:'.. h Qﬁa

Experimental research
3 o U ST

Descriptive research

4 % TUETHE &TE

Question Number : 18 Question Id : 8740815935 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Read the statement and choose the correct option given below :
= e W FHHET B UG AT HE AT g

Statement (A) : A hypothesis must not be falsifiable.
HAHBAA (A) : ThHedA [HET Hiieeg F21 81 =M=y |

Reason (R) : If a hypothesis is falsifiable, then science cannot be used to test the
hypothesis,

b (R) : afc 9ftmpea=r e &, @1 aRedr & T0E9 &9 & oo &9
T ITERT F51 BT AT FhaT E |

Options :
Both the statements are true and (R) is the correct explanation of (A)
| % ST FF T 7 AT (A) W HET AVAT (R) % |

Both the statements are true but (R) is not the correct explanation of (A)
, x ST HE § E AT (A) I HE AWAT (R) TE OB

(A) is false j:lut (R) is true

(A) T[T 2 @R (R) 99 2

3. %



Both the statements are false

4\_/%:1” 1T e T 2

Question Number : 19 Question Id : 8740815936 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

To test which of the following is not used a qualitative hypothesis ?
e | | fhEw TEIEY B & faU IOmcHs GishedET W 3UEnT

A

el 5T I BT

Note: For this question, discrepancy 1s found in
question/answer. Full Marks is being awarded to all

candidates.

Options :
t-test

i =)

ANOVA
2. = Bl

Chi Square
3 TIE-TEETEY

F-test

A UH-oie

Question Number : 20 Question Id : 8740815937 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Fundamental research reflects the ability to :
qifereh e &1 &9 &l SeIl & ¢
Options :
Synthesize new ideals
| % MO SATEE T HETWor FHEAT



Expound new principles

NV L - = A IR LA A

Evaluate the existing material concerning research
, x ST HARE ASET HHIAT B G Bl

Study the existing literature regarding various topics

-

&= [Jual & S99 7 AmEer Jied #5 a9 5

Question Number : 21 Question Id : 8740815938 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In sampling technique which of the following is not a part of sampling frame ?
FHAT T H g § H A |1 9T B BT B 7

2Ll HEl B 7
Options :

a list of random numbers
qGi=ed FEAl B FHl

1.

a list of sampling units of a population
Ueh SEEEAT 1 THAT TREAl Bl F=l

a list of voters

a list of respondents only
e ILeIaiAl gl

Question Number : 22 Question Id : 8740815939 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



In a study of two variables, when the variables change their direction in opposite manner,
then this phenomenon is called :

T =TI F qm:rﬁf o9 =¥ quT e faodig 99 # g5ad 2, o 39
AT T FHET A B

Options :

Positive-Negative Correlation
HEIHE-TRLIHE Haqg9

1. ®

Negative Correlation

EAEIEE = e
) Ahl{IHE H=HdH

Fluctuating Correlation
AT HEHG

Positive Correlation
4 % SBEIHS 2T

Question Number : 23 Question Id : 8740815940 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The stem and leaf dispiw is an effective, quick and simple way of displaying a :

=N AT @ feeE THHT&riiigrt H § [H Ueisid i Us T,
= L = IR - Rt R A
Options :

Hypothesis
o

Frequency Distribution
HAGR [FT7

Research Question
ST Os=



Research Design
AP TS (ATHET)

Question Number : 24 Question Id : 8740815941 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

............... is useful to study changes of values in the variable over time.
UURUURRUUUR - o - = | = = B - e P e [ et 7 e 2 s e P B Tl L
ITIRT 2 |

Note: For this question, discrepancy 1s found in

question/answer. Full Marks is being awarded to all

candidates.
Options :

Pie diagram
Tz AT

Bar diagram
oY AT

Scatter diagram
Thed T

Line diagram

YT T

Question Number : 25 Question Id : 8740815942 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



The effect of the exposure of interest on the outcome is distorted because of the effect of
extraneous factors that are related to both the exposure and outcome. This phenomenon
is called :

U 9Y &S & SgH BT 99 96T el & 99 & BT i

2T B, S Sigd ST 9T ST | 4999 B | 29 9947 1 el Sl B

Options :
Correlation

BEGER]
1. %

Confounding

ENEE
2.¥

Recall bias
EEANIES

Measurement error

4. %

Question Number : 26 Question Id : 8740815943 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If we are doing an analytical study and the study outcome is of acute nature and rare

condition what is the appropriate study design ?
Of¢ B9 U%F FsuEuds 9499 &Y Y8 B AN JA=Ed & THenH g

[ -

Ui AT gad REfd #r 2, 9 3ugth weEd feoied = o8 v

Options :
Cohort study
| IBIE ST

Case-control study
5 @ PE-BEA T

Cross-sectional study
3 % PIE-STIATEA HEEE



Surveillance

r

4, % IO

Question Number : 27 Question Id : 8740815944 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The validity that refers to the extent to which the new questionnaire conforms to existing
ideas or hypotheses is known as :

g JEAr SN ZH HEd & = 6 e "\ 9% A2 gedrEdl  gEd
gl Ug uigerel & AgET 2, FHeanl 2 o

Options :

Content validity
e JET

1. %

Construct validity

) s [T

Face validity

| T e

Criterion validity

AFCUSE J=dr
4.

Question Number : 28 Question Id : 8740815945 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to Goode & Hatt, scaling techniques :
TS AW Bl & AGHT, AJHEA fGfEET
Options :

Convert qualitative data into quantitative

| T e T il TETEE T2 H O geedl 2



Convert quantitative data into qualitative

, % MUIHTCHE d=4l &l b Rl LS 27 4 gea

Measurement of qualitative facts

. -
OMTcH= =41 Rl -SHAJHTEAH
w0 ot )

3. %
Analysis of quantitative facts
y w T T T faeeaor

Question Number : 29 Question Id : 8740815946 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A study where the investigators introduce an intervention and observe the events which
take place is called :
O AFIT Bl AGhdl ZEad I £ AT 39 TeATAl B AT HIA
Options :
Observational Study
L% PpEE DI LD e

Descriptive Study
., AUHTHSE T

Case-Control Study
3w AR H ST

Experimental Study
4 TEANHE AT

Question Number : 30 Question Id : 8740815947 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



A research problem is considered to be good, if it meets the h:sl]::rmng criteria :
LG 7} ST ETF'_-IT I T =BT T AT '% e I-—IHIUII‘CJFI OS9Si i de

T.T =h ;.x B

Options :
Fit, inconvenient, Noble, Ethnic, Revcrivmg (FINER)
|Uf""" u-H-_le’—J"-HJ‘E-ICh Hel, I!IFEI'H BIEE ]

1. %

Feasible, Interextmg, Novel, E[th"ﬂ and Relevant (FINER)

2chanq e, 9919, Jfas AT USRS

Fluctuating, Innocuous, Noticeable, Entrepreneur, Residual (FINER)
EIAd, ARNEY, =9 o4 9F49, 3P, FdiETe

3. %

Foolish, Impertect, Natural, Erratic, Revolutionary (FINER)
4% HeEamgol, AY0l, UThice, TTead, Hifcehi]

Question Number : 31 Question Id : 8740815948 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

COPE stands fr:-r
COPE #HI # =
Options :

Committee on Publication Errors

| T et a7 s

Committee on Publication Ethics

2J‘Iﬂﬁrf o9 Sfcepar 9¢ SEaf

Commuission of Potential Editors
s % SHANIT HIGH BT ATAN

Community-based Outputs for Public Education

S i1 e O o e R s £ e e )| R M EeAs



Question Number : 32 Question Id : 8740815949 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Each of the following is true about cross sectional study, EXCEPT :
FTefeiad H § Oo9 T-SANE ASEE & 9 ° "59 7, [SEe

Options :

Unable to measure incidence
ZMT&dT (incidence) T 194 H A=Y

1. %

Data are collected at multiple points in time
» T ® FE gl U S uwd A S

2.
Relatively quick and easy to conduct
3 = o= ror=a S 3 K =
s AUART Seel AT AT H OAEA

Able to measure the prevalence
4% =TT (prevalence) Tl 199 § Fe79

Question Number : 33 Question Id : 8740815950 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Standard Error is nothing but :
q=E g 7 ¢
Options :
Standard deviation of population distribution
- aigeie fgaer #1319 faEe

Dispersion Error

2% e

Standard deviation of sampling distribution

- Hee 9979 1 99 e




Conceptual Error

) - r._-"l __r-i
4. % 3

Question Number : 34 Question Id : 8740815951 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

DOI in a published research paper stands for :

UF THI9T ST 9= # Slo #ATo AEo &l A9 & ¢
Options :
Directory of Index

Digital Objective Index
fefied 3gesd gadhih

Direct Object Identifiers
e J TS

Digital Object Identifier
Sisfea Hlssfae T=a=EHdl

Question Number : 35 Question Id : 8740815952 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is a techniques used for controlling experimenter bias ?
TANTRTT IiEE B HEET w3 & fu Mefaiad 3 " -1  @A1E H

= -

START &pET ST & 7

Options :
Double eyed technique
sgul-Hlzs dh-ldh

1. =



Open eyed technique
HATA-HAZS THAIE

2. %

Double blind technique
SET-=A2S b1

3.¢

Open blind technique
HATTA-=AZE bl

Question Number : 36 Question Id : 8740815953 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Study the following graph and answer the question :

ME FH FAFIT HY 37T U H 397 2 ¢

Crime in a City

36
33

Kidnap Murder Assanlt Rape Dowry ]:Ellhﬁ

What was difference in crime between 1999 and 2000 ?
1999 1% 20007F == FIZH H fohaar 37 =7 7

Options :

L& 14



16

18

20

Question Number : 37 Question Id : 8740815954 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Study the following graph and answer the question :

TrfoaT OF =BT SA=09 hY 337 Us9 397§ ¢

Crime in a City

36
33

Kidnap Murder Assanlt Rape Dowry ]:Ellhﬁ

What was increase percent in rape from 1999 to 2000 ?
9 1999 2000F Y9 § Fhz ofaerd fmam ar 7

Options :

1.@*’“%

40%

2. %



Question Number : 38 Question Id : 8740815955 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Study the following graph and answer the following question :

rTANgT O BT 79999 e 37 U U gys9 &l 397 ¢ ¢

Students Going Abroad for Study from Different States/UTs
T~ 1991 /g 9Ed Ueel & =99 & o &esT o1+ 9 81

State/U.T. Year

1995 1996 1997 1998 1999
Maharashtra 723 840 900 920 925
Kerala 1035 940 1200 1400 1500
Karnataka 750 600 830 575 900
West Bengal 500 550 450 600 25
Delhi 1500 1625 1700 1475 1800
Andhra Pradesh 800 840 873 025 785
Total 5308 5395 5935 5895 6435

What was the percentage increase in the number of students from West Bengal from
1997 to 1998 ?

1997 & 1998 T Tie=A =¥ & BIEI FI AT H fHad giqeT & ghe 52
oq 7

Options :

..
66=
1. % 3



<
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Question Number : 39 Question Id : 8740815956 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Study the following graph and answer the following question :

oS 1% &1 3599 e 1L feU U 9= H 397 < ¢

Students Going Abroad for Study from Different States/UTs

-

i~ 141/ F2 T ueet & F=ET # fou f9ter I a9t 8E

State/U.T. Year

1995 1996 1997 1998 1999
Maharashtra 723 840 900 920 925
Kerala 1035 040 1200 1400 1500
Karnataka 750 600 830 575 900
West Bengal 500 550 450 600 25
Delhi 1500 1625 1700 1475 1800
Andhra Pradesh 800 840 873 925 785
Total 5308 5395 5955 5895 6435

In the case of which State/U.T. was there a continuous increase in the number of students

over the given years 7

2723 MR o 7> Gt PO 7B | £ [ i N -l L 1| B =7 =1 = s =2 | e B | R |

.

3
=

GJH
L

Options :




Kerala

"j.r ]

Andhra Pradesh
AT 89T

Maharashtra
4.0 TR

Question Number : 40 Question Id : 8740815957 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Identify the citation style if an article is cited in the following manner Kammer, Minian.
"Breaking the bounds of Domesticity : Ecofeminism and nature space in Love's Labour's
lost" Shakeapmre Bulletin, vol. 36, no. 3, 2018, pp. 467- 481

TS BIE g g a9 § 3| fhdl T 2, O IS0 9l TEE-

FH7, MHEE | J3T § asvsd AT %lﬁw?mﬂ : ZHIBET r..',?:.r TET AH
=9 W9 oEE i SIEETET gaiicd, vol. 36, no. 3, 2018, pp. 467-483
Options :

APA

3.¢¥

Chicago
IEEAR
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Question Number : 41 Question Id : 8740815958 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Contrast radiography of nasolacrimal duct is known as :
Options :
Dacrocystorhinography

., Lacrimography

3 % Rhinography

Sialography
% )

Question Number : 42 Question Id : 8740815959 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Dropping of upper eye lid is known as :
Options :
Protopsis



Ptosis
2.9

3 % Staphyloma

Ectasia

Question Number : 43 Question Id : 8740815960 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Setaria worms are generally visible in the :

Options :

anterior chamber
1.9

posterior chamber
2. %

3 % vitreous chamber

None of the three

Question Number : 44 Question Id : 8740815961 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Minimum number of portals for laparoscopic abdominal operation is :

Options :

One
1. %

5 % Two

Three

4 Four



Question Number : 45 Question Id : 8740815962 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Innovar-vet a combination of fentanyl citrate and droperidol produces :
Options :

| % Dissociative anaesthesia

Neuroleptanalgesia

3 % Hypnosis

4 % Narcosis

Question Number : 46 Question Id : 8740815963 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Paatsama technique is used for the repair of :
Options :
Cruciate licament
1.¥ -

Round ligament

3 ® Achilles tendon

Cuneon tendon

Question Number : 47 Question Id : 8740815964 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
Most common site of urethral obstruction due to calculi in bullock is :

Options :

| % Glans penis

Urethral process
3 Sigmoid flexure

“ None of the three

Question Number : 48 Question Id : 8740815965 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Diprenorphine is specific antagonist to :

Options :
Etorphine

) % Acepromazine

3 % Morphine

. Methotrimeprazine

Question Number : 49 Question Id : 8740815966 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

One of the following is given orally to prevent enteroliths in equines :

Options :
Lactic acid



Alcohol
1
 Linseed oil
3. %

LY Acetic Acid

Question Number : 50 Question Id : 8740815967 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The best line of incision for caesarean section in mare is :
Options :

Linea alba
1. %

) % Right paracostal

Left mid flank

Marcenac site

Question Number : 51 Question Id : 8740815968 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Liptek test is performed for the diagnosis of :
Options :

L% diaphragmatic abscess

reticular abscess

3 % right abomasal displacement

4 left abomasal displacement



Question Number : 52 Question Id : 8740815969 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Hypaque 85% contains :
Options :
Meglumine diatrizoate

Meglumine iothalamate

3 Sodium diatrizoate

Sodium iothalamate

Question Number : 53 Question Id : 8740815970 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Incision and draining of Guttural pouch can be approached through :
Options :
Viborg's triangle

Hyovertebrotomy

Both Viborg's triangle and Hyovertebrotomy

_ None of the three
4. %

Question Number : 54 Question Id : 8740815971 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
Operation used for resection of 'Dulla’ is camel is :
Options :

Glosectomy

5 % Pharyngotomy

Staphylectomy

“ Epiglotectomy

Question Number : 55 Question Id : 8740815972 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The abnormal curvatures of spine with lateral bowing is known as :
Options :
_ Tortocollis
1. #®

) Scoliosis

Lordosis
3. %

Kyphosis

Question Number : 56 Question Id : 8740815973 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Sodium is a principal cation of :
Options :
Plasma
v



~ Synovial fluid
2. % 7
Bile

Cerebral Spinal fluid

Question Number : 57 Question Id : 8740815974 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Yoke-Gall is a/an :

Options :

L% Cyst

Abscess
2.9

Tumour
-3

Oedema
4. %

Question Number : 58 Question Id : 8740815975 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Inflammation of testis is known as :
Options :

| % Oscheocele
5 % Orchiocele

Balanitis

Orchitis
o



Question Number : 59 Question Id : 8740815976 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the breed of dog is predisposed to intervertebral disc herniation ?
Options :

| ¢ Dachshund

, x GSD

Dalmatian
=4

4% Rampur hound

Question Number : 60 Question Id : 8740815977 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

It is mostly congenital in calf :
Options :
Ventral hernia

) Umbilical hernia

Perineal hernia

Incisional hernia

Question Number : 61 Question Id : 8740815978 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

Umbilical hernia is also known as :
Options :
% Bubonocele

Oscheocele

3 Omphalocele

4% Enterocele

Question Number : 62 Question Id : 8740815979 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Effusion and accumulation of serous fluid in the abdominal cavity is known as :
Options :

[ % Hydatid cyst

« Peritonitis
3 ¥ Ascites

Abdominal distension
4, %

Question Number : 63 Question Id : 8740815980 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Distension of the synovial capsule of the fetlock joint is known as :
Options :

Y. Wind gall



Thoroughpin

Canker

Bumble foot

Question Number : 64 Question Id : 8740815981 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Conray 280 contains :

Options :

% Meglumine diatrizoate

) Meglumine iothalamate

3 % Meglumine iodamide

4 % Meglumine iohexalate

Question Number : 65 Question Id : 8740815982 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Detomidine belongs to which of the following group ?
Options :
Dissociative anaesthesia

L _‘) : - 'L1
. Alpha-2 adrenoceptor agonist

Alpha-2 adrenoceptor antagonist

4% Morphine derivative



Question Number : 66 Question Id : 8740815983 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Pus in the body cavity is known as :
Options :
| % Pyemia

Emphysema
2. % i

3 Empyema

Carbuncle

Question Number : 67 Question Id : 8740815984 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which is not a cardinal sign of inflammation ?
Options :
Heat

1. =

Pain
2. %

Swelling

Discharee
4. o

Question Number : 68 Question Id : 8740815985 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
Most potent reversal agent of xylazine toxicity is :
Options :

Nalorphine

Yohimbine
2. %
3 % Naloxone
Droperidol

Question Number : 69 Question Id : 8740815986 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which is most effective agent for capture of elephants ?
Options :

 Ketamine
1. %

Barbiturates

3 % Xylazine

Y. Etorphine

Question Number : 70 Question Id : 8740815987 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Dribbling of urine through umbilical area in neonatal calves may be a case of :
Options :
. Hypospadia



Uretral diverticulum

Pervious urachus
3.¢

All of the three
=3

Question Number : 71 Question Id : 8740815988 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Excessive oedema of the conjunctiva is known as :
Options :
| % Conjunctivitis

) % Epiphora

3 @ Chemosis

Blepharitis

Question Number : 72 Question Id : 8740815989 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Tumour of the gum is commonly known as :
Options :

| % Gingivitis

Dental caries

Dental tartar

4 Epulis



Question Number : 73 Question Id : 8740815990 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Castration is not indicated for :
Options :
Behavioural modification

Sterilization

3 % Reducing aggression

Undesirable behaviour
4.

Question Number : 74 Question Id : 8740815991 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Accumulation of purulent material in the anterior chamber is known as :
Options :
L% Cataract

Hyphema
g
Glaucoma

4 Hypopyon

Question Number : 75 Question Id : 8740815992 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
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Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
Process of debris removal from a wound is known as :

Options :
, /Ampuiation

5 % Disinfection

Sterilization

Debridement

Question Number : 76 Question Id : 8740815993 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Removal of Setaria worms from the anterior chamber of eye can be performed by :
Options :

. Phacoemulsification
l.

Keratocentesis

5 % Scleral incision

Lendectomy

Question Number : 77 Question Id : 8740815994 Question Type : MCQ Option Shuffling : Yes Is Question
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Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The term atelectasis means :
Options :
The heart is not pumping



5 % The animal is not ventilating

Some of the lung alveoli have collapsed

4 % The patient's blood pressure is falling

Question Number : 78 Question Id : 8740815995 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Inflammatory swelling of hard palate in equine is known as :
Options :

L% Ranula

v Lampas
Epulis

4 % Sialolith

Question Number : 79 Question Id : 8740815996 Question Type : MCQ Option Shuffling : Yes Is Question
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replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Epidural anaesthesia used for the management of dystocia :
Options :
Reduce uterine motility

Increase uterine motility
Has no effect on uterine motility

4 % It is not recommended in dystocia



Question Number : 80 Question Id : 8740815997 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Caslick's operation in mare is recommended for :
Options :

| % Caesarean section

Ovariectomy
Pneumo-vagina
3. ¢ e

4 % None of the three

Question Number : 81 Question Id : 8740815998 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who is known as the father of Veterinary Radiology ?
Options :
L R. Eberlein

) % J. A. W. Dollar

3 % W. C. Roentgen

W. C. Blank
4. %

Question Number : 82 Question Id : 8740815999 Question Type : MCQ Option Shuffling : Yes Is Question
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Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

The most radio-dense substance in the body is :
Options :

% Fluid

 Soft tissue
2. %
Brain
1

Bone

Question Number : 83 Question Id : 8740816000 Question Type : MCQ Option Shuffling : Yes Is Question
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Formation of stone in the salivary gland and/or duct is known as :
Options :

L% Ranula

Choroids

Sialolith
3.9

“ Cystolith

Question Number : 84 Question Id : 8740816001 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Inflammation of the stifle joint is known as :
Options :
o, Omarthritis



. Gonitis

. Bone spavin

4 % Occult spavin

Question Number : 85 Question Id : 8740816002 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Local anaesthetics block the nerve conduction by :

Options :

| % Blocking all cation channels in the neuromuscular membrane

. Hyperpolarization of the neuronal membrane
2.
3 Interfering with depolarization of the neuronal membrane

4% All of the three

Question Number : 86 Question Id : 8740816003 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the following is not a dissociative anaesthetic ?
Options :

L% Phencyclidine

5 % Tiletamine

Xylazine
o

Ketamine
4, %



Question Number : 87 Question Id : 8740816004 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following general anaesthetic has poor muscle relaxant action ?

Options :

Ether
1. %

Nitrous oxide
o
 Halothane
3. ®

4% Isoflurane

Question Number : 88 Question Id : 8740816005 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Radiation exposure occurs in all except :

Options :

L% CT Scan

Plain film X-ray

 Fluoroscopy

MRI
4. ¢
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Question Label : Multiple Choice Question
Condition where fracture takes unusual long time to heal is termed as :
Options :

« Complicated fracture

» MNon union

Delayed union
3.

“ Osteomalacia

Question Number : 90 Question Id : 8740816007 Question Type : MCQ Option Shuffling : Yes Is Question
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Best suture technique for tenorrhaphy :
Options :

% Lambert suture technique

) Bunnell-Mayer technique

Parker-ker technique

4% Cruciate technique
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Displaced articular surface is known as :
Options :

% Synovial hernia



, % Arthritis
P Luxation

Dysplasia
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Cryptorchid horse is also called :
Options :

L% Nymph

o
2.0 8

_ Flase-Rig
3. %

Booster
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Question Label : Multiple Choice Question
Abnormal proliferation of granulation tissue is known as :

Options :
Seroma
~ Granuloma
2.

3 % Soft callus

Proud flesh
4.
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which suture pattern is preferred for rumenotomy ?
Options :
Horizontal mattress

) % Vertical Mattress

- Lock stitch

v Lambert and Cushing
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Cold application is indicated in which of the following conditions ?
Options :
% Septic inflammation

Acute inflammation
2.9
Subacute inflammation

Chronic inflammation
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Question Label : Multiple Choice Question
Both kidneys are equally movable in :
Options :

L% Dogs

Horse
-3
— Cattle
3. %

4 Cats
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Hernia of inguinal origin is called :
Options :

Perineal hernia
1. %

5 Enterocele

2.
3 ¥ Bubonocele
A Oscheocele
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which is an example of internal hernia ?
Options :
Ventral
E



Scrotal

3 % Umbilical

Diaphragmatic

Question Number : 99 Question Id : 8740816016 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following condition is developed due to paralytic ileus ?
Options :

L% Atresia coli

., Left displacement of abomasum

Intestinal obstruction

_Atresia ani
4 ®
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Question Label : Multiple Choice Question

In a dog prolonged vomiting will lead to :
Options :

| % Respiratory alkalosis

Metabolic alkalosis

Metabolic acidosis

Respiratory alkalosis






